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Part one : Grammar

61- Have we got............ sandwiches for everyone for lunch?

1) enough 2)such A TR T = 4) Much
62-what would he ....i......... if he had had a million dollars? :

1) had done “2) have done SidnesE s il 4y did
63-A: What did the doctor say? B: He told me ..).i0m.in bed any-longer

1) didn't stay i 2) don't stay
64-A: You can't go on a pienic, It's raining
B: I wish It........ i

nqrf:_l;r_é"ﬁ;g}rjﬁg; ] 4) not to stay

1) Stopped to rain 2) had stopped raining . 3)Would stop raifiing  4) will stop o rain~
65-The bank robbers could run away because the police........ +«.s informed of the robbery in time.
I) haven't been 2) hadn't been " 3) haven't : 4) hasn't - =~
66-My father didn't want to take a trip, and ........... my brother. i

1)so did 2) didn't either 3) neither did -y didtoo

Part two : Vocabulary

g

67-During the experiment there was an cisersennnennchange in the color of that liquid .

1) expensive ~ = 2)obvigus 3yawful . 4) available ¢
68-My grand father cannot read without his glasse$ . He ....... them to help him read.
1) depends on “2Yinsists on . Ue3) keepson. 4) tries on
69- They offered me a Job, but I refused it-absolutely. 'Absolutely” means:............
1) expressively 2) previously “3) completely 4) surprisingly
70-During recent years, a great deal of effort has been devoted to the ;............. of more powerful rocket
engines : |
| ) appointment 2) condition ; 3) application ~ 4) development
71-A: "What is the ............ of the north of Iran? B: "It is mainly rice and tea"
[) productive 2) production 3) produce 4) product
72-If you drive at this speed, an accident will be.............
1) inevitable 2) miserable 3) respectable 4) agreeable
73-It is impossible to ............. a foreign language without practice and repetition
1) magnify 2) mitigate 3) master 4) moralize
74- Children should be taught how to ....-themselves to different conditions
1) affect 2) adapt 3) distribute 4) afford
75-She has never had any accident. She shows Brenti i waat driving,
[} ability 2) capacity 3) operation 4) skill
76-what the witnesses said ............. to his fault in the accident
1) pointed 2) cured 3) based 4) amazed
77- All newly-arrived guests are to ............. at the reception.
1} defeat 2) permit 3) register 4) reveal
78-She was first accused of shoplifting but then she was............... of the charge.
1) proved 2) convinced 3) verified 4) cleared
?
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- -
79-In the middle east, women were responsible for .............. the home and didn't work
1) complaining 2) maintaining 3) considering 4) demoralizing
80-what is unusual about artistic people is that many of them have .............. mental abilities.

1) incredible 2) hopeful 3) eternal 4) artificial
Part three: cloze passage

The earliest known date for the use of papyrus is 2300 B.C. Much later the Chinese discovered how to
.--(81)... paper. It was certainly one of the most -++(82)... inventions in history, Because of this fact they
guarded it more ...(83) ... than any thing else in the whole world. But this secret was also ...(84)... later on
other-nations learned how to make paper and could ...(85).... its quality, that is why we have very good
paper nowadays. ' :

81- 1) present 2) Produce 3) protect © 4)prevent
82-1) impossible 2) cheap __3)ydangerous 4)important
83-1) harmfully = 2) carefully st sy paintullys S 4) ideally
84-1) found out 2) given up’ 3)looked out 4) turned down
85-1) divide - 2} decrease 3) develop ‘4) reduce

Part four: Reading comprehension:

Astronomers can tell just how hot the surface of the moon gets. The side of the moon towards the sun gels
two degrees hotter than boiling water .The night side reaches 243 degrees below zero. When the earth's
shadow falls on the moon (eclipse), the moon's temperature may drop 300 degrees in a very short time, A
temperature change like this cannot happen on the earth who does it happen on the moon?

Astronomers think that the surface of the moon is dust .On the earth, rocks store heat from the sun. When
the sun goes down, the rocks stay warm. But the dust of the moon cannot store heat. So when the moon gets
dark, the heat escapes quickly and the moon get very cold. i »

86-Astronomers have found that the moon's surface is ...... - =

1) always hotter than boiling water : 2) either very hot or very col

3) usually many degrees below zero .+ i 4) abour the same as that of the earth
87-During an eclipse, the moon is..... i

1) turned away from the sun - e, R 2) in the shadow of the sun

3) in the shadow of the earth ™ ~4yin direct sunlight
88-Temperatures on the moon ehange....... 5., . '

1) very quickly ' 2yby only a few degrees

3) very slowly WEH 4) only when there is an.eclipse
89-Temperatures on the earth change................ '

1) less than those on the moon -2) more slowly than those on the moon
3) more quickly than those on the moon 4) bothaand b

90-what does the word "it' refer to?

1) 300 degrees 2) temperature change

3) earth's shadow 4) boiling water
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151- Peripheral devices consist ol :

1) Communication and bulk starage devicess

2) The primary and secondary storage devices.

3) Printers , card readers and plotters .

4) magnetic tapes , disks and ROMS.

152- The central processing unit ......

1) interprets and execute program in instructions.

2) communicates with input , cutput and storage device
3)both | and 2

4) processes information and sends out raw data,
153-prior to being processed programs and data must be ...
1) held in the primary storage.

2) released to the input unit,

3) held in the secondary storage.

4) released 1o the output unit,

154- what is a synonym of " ROUTE" ?

1) Trail

2) Transfer

3) Path

4 Transmit
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155- the number of steps used in_solving a program called a(n) ....

1) Algorithm

2) Flowchart

3) Procedure

4) Software

156- cache refers to ...... .

1) a high — speed timer

2) a particular read/write head

3) a special display device

4} a high — speed storage device

157- 0S8l is ...... .

1) online system interconnection

2) operating system interface

3) open system interconnection

4) open system interface |

158- which term refers; to a translator which transforms a high level language into another high level
language equivalent? g

1) Assembler 2) Preprocessor

3) Interpreter 4) Compiler

1539- which one is false?

1) Printers are classified according to the amount of information-theyprint ar a time.

2) Printers and CRT terminals are used in providing real-time output. :

3) scrolling , paging and high-lighting are among the features that affect the display of the autput on the screen.
4) alphanumeric.terminals allow the user to make an inquiry of the edmputer and the computer to request
information the user. ' ' |

160- the creation ol'a plan based on results of the system anaiysisis known as :

1) planning ; :

2) coordination

3) system design

4) system evaluation
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